Filomat 32:18 (2018), 6387–6394 https://doi.org/10.2298/FIL1818387S



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

# Expressions for the Drazin Inverse of a Modified Matrix

## Lazar Stojković<sup>a</sup>, Dijana Mosić<sup>a</sup>

<sup>a</sup>Faculty of Sciences and Mathematics, University of Niš, P.O. Box 224, 18000 Niš, Serbia

**Abstract.** We present some new expressions for the Drazin inverse of a modified matrix  $A - CD^DB$  in terms of the Drazin inverse of A and its generalized Shur's complement  $D - BA^DC$  under weaker conditions. Some results in recent literature are unified and generalized, and most importantly, we obtain new expressions of generalized Sherman-Morrison-Woodbury formula under weaker restrictions.

## 1. Introduction

Throughout this paper, let  $\mathbb{C}^{n \times m}$  denote the set of all  $n \times m$  complex matrices. For  $A \in \mathbb{C}^{n \times n}$ , the Drazin inverse of A is the unique matrix  $A^D \in \mathbb{C}^{n \times n}$  such that

$$A^{k+1}A^D = A^k, \quad A^D A A^D = A^D, \quad A A^D = A^D A,$$

where *k* is the least non-negative integer such that  $rank(A^k) = rank(A^{k+1})$ , called index of *A* and denoted by ind(A). Denote by  $A^e = AA^D$  and  $A^{\pi} = I - A^e$ , where *I* denotes the identity matrix of proper size. When ind(A) = 1,  $A^D = A^{\#}$  is called the group inverse of *A*. If ind(A) = 0, then  $A^D = A^{-1}$ .

If *A* and *D* are invertible matrices and *B* and *C* are matrices of appropriate size such that  $D - BA^{-1}C$  and  $A - CD^{-1}B$  are invertible, then original Sherman-Morrison-Woodbury (from now on SMW) formula gives explicit expression for the inverse of a modified matrix  $A - CD^{-1}B$  of *A* in terms of its Schur's complement  $D - BA^{-1}C$  [11, 13]. Precisely, SMW formula is expressed as

$$(A - CD^{-1}B)^{-1} = A^{-1} + A^{-1}C(D - BA^{-1}C)^{-1}BA^{-1}.$$

This formula has a lot of applications in statistics, networks, optimization and partial differential equations (see [5, 6, 8]).

Main objective of this article is to study the Drazin inverse of a modified matrix  $A - CD^{D}B$  in terms of the Drazin inverse of A and the Drazin inverse of its generalized Schur complement, since the Drazin inverse has many applications in numerical analysis, singular differential or difference equations, Markov chains, cryptography, etc. Some of mentioned applications can be found in [1, 2].

Under some assumptions, Wei [12] gave representations of the Drazin inverse of a modified matrix A - CB (in this case D = I). His results were generalized in [3, 9, 10].

<sup>2010</sup> Mathematics Subject Classification. Primary 15A09; Secondary 65F20

Keywords. Drazin inverse, Sherman-Morrison-Woodbury formula, modified matrix

Received: 25 May 2018; Accepted: 23 October 2018

Communicated by Dragan S. Djordjević

Research supported by the Ministry of Education, Science and Technological Development, Republic of Serbia, grant no. 174007. Email addresses: lazar.s.stojkovic@live.com (Lazar Stojković), dijana@pmf.ni.ac.rs (Dijana Mosić)

Zhang and Du [4] relaxed and removed some assumptions of theorems proved in [3, 9, 10, 12] and presented formulae for  $(A - CD^{D}B)^{D}$  under weaker conditions.

In [4, Lemma 2.2], which is extensively used through [4], Zhang and Du made an assumption  $A^{\pi}J = 0$ . We relax this condition and our conditions yield four different versions of [4, Lemma 2.2], four different versions of [4, Theorem 2.5] and its corollaries. Thus, new expressions for  $(A - CD^{D}B)^{D}$  and generalized SMW formula are obtained under weaker conditions.

## 2. Main results

In this section, let  $A \in \mathbb{C}^{n \times n}$ ,  $D \in \mathbb{C}^{m \times m}$ ,  $B \in \mathbb{C}^{m \times n}$  and  $C \in \mathbb{C}^{n \times m}$ . For simplicity, we introduce following denotations:

$$H = BA^{D}, \quad K = A^{D}C, \quad J = CD^{D}B, \quad L = BA^{D}C,$$
  

$$S = A - J, \quad Z = D - L, \quad S_{A} = A^{e}SA^{e} \quad \text{and} \quad Z_{D} = D^{e}ZD^{e}.$$

We will investigate the Drazin inverse of a modified matrix  $S = A - CD^{D}B$  in terms of the Drazin inverse of A and the Drazin inverse of its generalized Schur's complement Z. For every square matrix A, we define

 $A^0 = I$ . If the lower limit of a sum is greater than its upper limit, we define the sum to be 0, i.e.  $\sum_{i=0}^{k} * = 0$  when k < 0.

Let us first introduce an auxiliary result.

**Lemma 2.1.** [7, Theorem 2.1] Let  $P, Q \in \mathbb{C}^{n \times n}$ . If PQ = 0 then

$$(P+Q)^D = Q^\pi \sum_{i=0}^{t-1} Q^i (P^D)^{i+1} + \sum_{i=0}^{s-1} (Q^D)^{i+1} P^i P^\pi,$$

where s = ind(P) and t = ind(Q).

Now, we generalize [4, Lemma 2.2].

**Lemma 2.2.** If  $A^{\pi}JA^{\pi} = 0$  and if (a)  $SA^{\pi}J = 0$ , then

$$S^{D} = (I - A^{\pi} J S^{D}_{A}) S^{D}_{A} + \sum_{i=0}^{k-1} ((I - A^{\pi} J S^{D}_{A}) S^{D}_{A})^{i+2} S A^{i} A^{\pi};$$

(b)  $SJA^{\pi} = 0$ , then

$$S^{D} = (I - A^{\pi} J S^{D}_{A}) S^{D}_{A} + \sum_{i=0}^{k-1} S A^{i} A^{\pi} ((I - A^{\pi} J S^{D}_{A}) S^{D}_{A})^{i+2};$$

(c)  $JA^{\pi}S = 0$ , then

$$S^{D} = S^{D}_{A}(I - S^{D}_{A}JA^{\pi}) + \sum_{i=0}^{k-1} A^{i}A^{\pi}S(S^{D}_{A}(I - S^{D}_{A}JA^{\pi}))^{i+2};$$

(d)  $A^{\pi}JS = 0$ , then

$$S^{D} = S^{D}_{A}(I - S^{D}_{A}JA^{\pi}) + \sum_{i=0}^{k-1} (S^{D}_{A}(I - S^{D}_{A}JA^{\pi}))^{i+2}A^{i}A^{\pi}S;$$

where k = ind(A).

*Proof.* (a) The hypothesis  $A^{\pi}JA^{\pi} = 0$  implies

$$A^{\pi}SA^{\pi} = AA^{\pi} \quad \text{and} \quad A^{\pi}J = A^{\pi}JA^{e}. \tag{1}$$

Now we compute

\_

$$SA^{e} = (A^{e} + A^{\pi})SA^{e} = S_{A} + A^{\pi}SA^{e} = S_{A} - A^{\pi}J$$
 and  $-S_{A}A^{\pi}J = 0.$ 

Because  $A^{\pi}JA^{\pi} = 0$ , we know that  $-A^{\pi}J$  is a nilpotent matrix and thus  $(-A^{\pi}J)^{D} = 0$  and  $(-A^{\pi}J)^{\pi} = I$ . Since  $ind(-A^{\pi}J) \leq 2$ , by Lemma 2.1,

$$(SA^e)^D = (I - A^\pi J S^D_A) S^D_A.$$
<sup>(2)</sup>

Obviously,  $S = SA^{\pi} + SA^{e}$  and  $SA^{\pi}SA^{e} = 0$ . Using (1), we have

$$(SA^{\pi})^{i} = S(A^{\pi}SA^{\pi})^{i-1} = S(AA^{\pi})^{i-1} = SA^{i-1}A^{\pi}, \quad i \in \mathbb{N}.$$
(3)

Since *k* is the least non-negative integer such that  $A^k A^{\pi} = 0$  holds,  $SA^{\pi}$  is a nilpotent matrix and therefore  $(SA^{\pi})^{D} = 0$  and  $(SA^{\pi})^{\pi} = I$ . For all i > k,  $(SA^{\pi})^{i} = 0$  and, from Lemma 2.1, (2) and (3), we obtain desired result

$$S^{D} = \sum_{i=0}^{k} ((SA^{e})^{D})^{i+1} (SA^{\pi})^{i} = (SA^{e})^{D} + \sum_{i=0}^{k-1} ((SA^{e})^{D})^{i+2} (SA^{\pi})^{i+1}$$
$$= (I - A^{\pi} JS^{D}_{A})S^{D}_{A} + \sum_{i=0}^{k-1} ((I - A^{\pi} JS^{D}_{A})S^{D}_{A})^{i+2} SA^{i}A^{\pi}.$$

(b) Similarly like in (a), by

$$JA^{\pi} = A^e JA^{\pi}, \quad S = SA^e + SA^{\pi}, \quad SA^e SA^{\pi} = 0.$$

(c) This part follows using

 $S = A^e S + A^\pi S, \quad A^e S A^\pi S = 0.$ 

(d) We notice

$$S = A^{\pi}S + A^{e}S, \quad A^{\pi}SA^{e}S = 0.$$

Parts (a) and (d) of Lemma 2.2 generalize [4, Lemma 2.2], while Lemma 2.2(a) yields the same result when  $A^{\pi}J=0.$ 

In the following example, we present complex matrices *A*, *B*, *C* and *D* such that for them [4, Lemma 2.2] is not applicable, yet Lemma 2.2(a) is.

## Example 2.3. Let

$$A = \begin{bmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 1 \end{bmatrix}, \quad B = \begin{bmatrix} 0 & 0 & 0 \\ 0 & 0 & 5 \end{bmatrix}, \quad C = \begin{bmatrix} 0 & 1 \\ 0 & 0 \\ 0 & 0 \end{bmatrix} \text{ and } D = \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix}.$$

6389

Then  $A^{\#} = A$ ,  $D^{\#} = D$ ,

$$A^{\pi} = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 0 \end{bmatrix}, \quad J = \begin{bmatrix} 0 & 0 & 5 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{bmatrix} \text{ and } S = A - J = \begin{bmatrix} 0 & 0 & -5 \\ 0 & 0 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$

give  $A^{\pi}J = J \neq 0$ ,  $A^{\pi}JA^{\pi} = 0$  and  $SA^{\pi}J = 0$ . Hence, we can not apply [4, Lemma 2.2], but using Lemma 2.2(a), we get

$$S^D = \begin{bmatrix} 0 & 0 & -5 \\ 0 & 0 & 0 \\ 0 & 0 & 1 \end{bmatrix}.$$

 $\triangle$ 

We state now a result from [4].

**Lemma 2.4.** [4, Lemma 2.4] Let  $M = A^D + KZ^DH$ . Then following statements are equivalent:

(a)  $KD^{\pi}Z^{D}H = KD^{D}Z^{\pi}H;$ (b)  $S_{A}M = A^{e};$ (c)  $MS_{A} = A^{e};$ (d)  $KZ^{\pi}D^{D}H = KZ^{D}D^{\pi}H.$ 

*Furthermore, if one of* (a)–(d) *holds, then*  $S_A$  *has the group inverse* 

$$S_A^{\#} = A^D + KZ^D H.$$

Using Lemma 2.2 and Lemma 2.4, we obtain the following result.

**Theorem 2.5.** If  $A^{\pi}JA^{\pi} = 0$ ,  $KD^{\pi}Z^{D}H = KD^{D}Z^{\pi}H$  and if

(a)  $SA^{\pi}J = 0$ , then

$$\begin{split} S^{D} &= (I - A^{\pi}J(A^{D} + KZ^{D}H))(A^{D} + KZ^{D}H) \\ &+ \sum_{i=0}^{k-1} \left( (I - A^{\pi}J(A^{D} + KZ^{D}H))(A^{D} + KZ^{D}H) \right)^{i+2}SA^{i}A^{\pi}, \end{split}$$

or alternatively

$$S^{D} = (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))(A^{D} + A^{D}CZ^{D}BA^{D}) - \sum_{i=0}^{k-1} \left[ \left( (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))(A^{D} + A^{D}CZ^{D}BA^{D}) \right)^{i+1} \times (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))A^{D}CZ^{D}BA^{i}A^{\pi} \right]$$
(4)  
$$+ \sum_{i=0}^{k-1} \left[ \left( (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))(A^{D} + A^{D}CZ^{D}BA^{D}) \right)^{i+1} \times (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))A^{D}C(Z^{D}D^{\pi} - Z^{\pi}D^{D})BA^{i} \right];$$

(b)  $SJA^{\pi} = 0$ , then

$$\begin{split} S^{D} &= (I - A^{\pi}J(A^{D} + KZ^{D}H))(A^{D} + KZ^{D}H) \\ &+ \sum_{i=0}^{k-1} SA^{i}A^{\pi} \Big( (I - A^{\pi}J(A^{D} + KZ^{D}H))(A^{D} + KZ^{D}H) \Big)^{i+2}; \end{split}$$

(c)  $JA^{\pi}S = 0$ , then

$$\begin{split} S^{D} &= (A^{D} + KZ^{D}H)(I - (A^{D} + KZ^{D}H)JA^{\pi}) \\ &+ \sum_{i=0}^{k-1} A^{i}A^{\pi}S \Big( (A^{D} + KZ^{D}H)(I - (A^{D} + KZ^{D}H)JA^{\pi}) \Big)^{i+2}, \end{split}$$

or alternatively

$$S^{D} = (A^{D} + A^{D}CZ^{D}BA^{D})(I - (A^{D} + A^{D}CZ^{D}BA^{D})JA^{\pi}) - \sum_{i=0}^{k-1} \left[ A^{\pi}A^{i}CZ^{D}BA^{D}(I - (A^{D} + A^{D}CZ^{D}BA^{D})JA^{\pi}) \times \left( (A^{D} + A^{D}CZ^{D}BA^{D})(I - (A^{D} + A^{D}CZ^{D}BA^{D})JA^{\pi}) \right)^{i+1} \right]$$
(5)  
$$+ \sum_{i=0}^{k-1} \left[ A^{i}C(D^{\pi}Z^{D} - D^{D}Z^{\pi})BA^{D}(I - (A^{D} + A^{D}CZ^{D}BA^{D})JA^{\pi}) \times \left( (A^{D} + A^{D}CZ^{D}BA^{D})(I - (A^{D} + A^{D}CZ^{D}BA^{D})JA^{\pi}) \right)^{i+1} \right];$$

(d)  $A^{\pi}JS = 0$ , then

$$\begin{split} S^{D} &= (A^{D} + KZ^{D}H)(I - (A^{D} + KZ^{D}H)JA^{\pi}) \\ &+ \sum_{i=0}^{k-1} \left( (A^{D} + KZ^{D}H)(I - (A^{D} + KZ^{D}H)JA^{\pi}) \right)^{i+2} A^{i}A^{\pi}S; \end{split}$$

where k = ind(A).

*Proof.* (a) This proof is nearly identical to the one in [4, Theorem 2.5]. We provide it here because of completeness. Combining Lemma 2.2 and Lemma 2.4, we obtain the first equality. The second equality follows from the first one by noticing:

$$(A^{D} + KZ^{D}H)SA^{\pi} = (A^{e} - KD^{D}B + KZ^{D}BA^{e} - KZ^{D}(D - Z)D^{D}B)A^{\pi}$$
  
=  $-KZ^{\pi}D^{D}BA^{\pi} - KZ^{D}(I - D^{\pi})BA^{\pi}$   
=  $K(Z^{D}D^{\pi} - Z^{\pi}D^{D})BA^{\pi} - KZ^{D}BA^{\pi};$  (6)

By  $KD^{\pi}Z^{D}H = KD^{D}Z^{\pi}H$  and Lemma 2.4, we get

$$K(Z^{D}D^{\pi} - Z^{\pi}D^{D})BA^{\pi} = K(Z^{D}D^{\pi} - Z^{\pi}D^{D})B - K(Z^{D}D^{\pi} - Z^{\pi}D^{D})HA$$
$$= K(Z^{D}D^{\pi} - Z^{\pi}D^{D})B.$$

(c) We have in mind parts (a) and (d) of Lemma 2.4 and derive an equality symmetric to (6). We can similarly verify parts (b) and (d). □

Equality (4) of Theorem 2.5(a) can be also modified in the following way.

Remark 2.6. Using

$$(A^D + KZ^D H)SA^{\pi} = K(Z^D D^{\pi} - Z^{\pi} D^D)BA^{\pi} - KZ^D BA^{\pi}$$
$$= -K(Z^D D + Z^{\pi})D^D BA^{\pi},$$

we get one more expression for  $S^D$ :

$$\begin{split} S^{D} &= (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))(A^{D} + A^{D}CZ^{D}BA^{D}) \\ &- \sum_{i=0}^{k-1} \left[ \left( (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))(A^{D} + A^{D}CZ^{D}BA^{D}) \right)^{i+1} \\ &\times (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))A^{D}C(Z^{D}D + Z^{\pi})D^{D}BA^{i}A^{\pi} \right]. \end{split}$$

In [4, Theorem 2.5 and Theorem 2.9], to give representations of the Drazin inverse of *S*, Zhang and Du assumed

(I)  $A^{\pi}J = 0$  and  $KD^{\pi}Z^{D}H = KD^{D}Z^{\pi}H$ ; (II)  $JA^{\pi} = 0$  and  $KZ^{\pi}D^{D}H = KZ^{D}D^{\pi}H$ .

Notice that Theorem 2.5(a,d) relaxes the first condition in (I). When  $A^{\pi}J = 0$ , Theorem 2.5(a) yields the same result as conditions in (I), while Theorem 2.5(d) provides entirely new expression for  $S^D$  regardless. Similarly, Theorem 2.5(b,c) relaxes the first condition in (II).

We now state another auxiliary result.

**Lemma 2.7.** [4, Lemma 3.2] If  $D^D BAA^D = D^D DBA^D$ , then

$$S_{A}^{D} = A^{D} + A^{D}CZ_{D}^{D}D^{D}BAA^{D} - \sum_{i=0}^{s-1} (A^{D})^{i+2}CDD^{D}Z_{D}^{i}Z_{D}^{\pi}D^{D}BAA^{D},$$
(7)

where  $s = ind(Z_D)$ .

Using Lemma 2.2 and Lemma 2.7, we obtain the next consequence.

**Corollary 2.8.** If  $D^D BAA^D = D^D DBA^D$  and  $A^{\pi}JA^{\pi} = 0$ , then statements (a)–(d) of Lemma 2.2 hold, where  $S_A^D$  is represented by (7).

Analogously to Lemma 2.2, we have following results.

**Lemma 2.9.** If  $D^{\pi}LD^{\pi} = 0$  and if

(a)  $ZD^{\pi}L = 0$ , then

$$Z^{D} = (I - D^{\pi} L Z_{D}^{D}) Z_{D}^{D} + \sum_{i=0}^{l-1} ((I - D^{\pi} L Z_{D}^{D}) Z_{D}^{D})^{i+2} Z D^{i} D^{\pi};$$
(8)

(b)  $ZLD^{\pi} = 0$ , then

$$Z^{D} = (I - D^{\pi} L Z_{D}^{D}) Z_{D}^{D} + \sum_{i=0}^{l-1} Z D^{i} D^{\pi} ((I - D^{\pi} L Z_{D}^{D}) Z_{D}^{D})^{i+2};$$

(c)  $LD^{\pi}Z = 0$ , then

$$Z^{D} = Z_{D}^{D}(I - Z_{D}^{D}LD^{\pi}) + \sum_{i=0}^{l-1} D^{i}D^{\pi}Z(Z_{D}^{D}(I - Z_{D}^{D}LD^{\pi}))^{i+2};$$

(d)  $D^{\pi}LZ = 0$ , then

$$Z^{D} = Z_{D}^{D}(I - Z_{D}^{D}LD^{\pi}) + \sum_{i=0}^{l-1} (Z_{D}^{D}(I - Z_{D}^{D}LD^{\pi}))^{i+2}D^{i}D^{\pi}Z;$$

where l = ind(D).

We now express  $S_A^D$  in terms of  $Z^D$ .

**Lemma 2.10.** If  $D^D BAA^D = D^D DBA^D$ ,  $D^{\pi}LD^{\pi} = 0$  and  $(ZD^{\pi}L = 0 \text{ or } LD^{\pi}Z = 0)$ , then

$$S_{A}^{D} = A^{D} + A^{D}CD^{e}Z^{D}D^{D}BAA^{D} - \sum_{i=0}^{s-1} (A^{D})^{i+2}CDD^{D}(Z + D^{\pi}L)^{i}(I - D^{e}ZD^{e}Z^{D})D^{D}BAA^{D},$$
(9)

where  $s = ind(D^eZD^e)$ .

*Proof.* Assume that  $ZD^{\pi}L = 0$ . Obviously, equalities (7) and (8) hold. Since  $Z_D = (Z + D^{\pi}L)D^e$ , we easily deduce that  $Z_D^i = (Z + D^{\pi}L)^i D^e$  for all  $i \in \mathbb{N}$ . Notice that  $D^e Z_D^D = Z_D^D$  and  $Z_D^D D^e = Z_D^D$ . Using (8), we have  $Z^D D^e = (I - D^{\pi}LZ^D)Z_D^D$ , and then,  $D^e Z^D D^e = Z_D^D$ . Also, note that  $D^e Z_D^D D^D = (I - Z_D Z^D)D^D$ . We now obtain desired result by substituting  $Z_D^D$ ,  $Z_D^i$  and  $Z_D^\pi$  in (7). When  $LD^{\pi}Z = 0$ , we apply Lemma 2.9(c) instead of Lemma 2.9(a).

If we combine Lemma 2.2 and Lemma 2.10, we can get eight different expressions for  $S^{D}$  in terms of  $Z^{D}$ . We give for example the following result.

**Corollary 2.11.** If  $D^D BAA^D = D^D DBA^D$ ,  $A^{\pi}JA^{\pi} = 0$ ,  $D^{\pi}LD^{\pi} = 0$  and  $(ZD^{\pi}L = 0 \text{ or } LD^{\pi}Z = 0)$ , then statements (a)–(d) of Lemma 2.2 hold, where  $S_A^D$  is represented by (9).

## 3. Special cases

Several special cases of Theorem 2.5, which generalize some recent results, will be presented in this section. The first consequence of Theorem 2.5 recovers [4, Corollary 2.7].

**Corollary 3.1.** If  $A^{\pi}JA^{\pi} = 0$  and  $CD^{\pi}Z^{D}B = 0 = CD^{D}Z^{\pi}B$ , then statements (a)–(d) of Theorem 2.5 hold.

Since  $D^{\pi}Z^{D} = 0$  and  $D^{D}Z^{\pi} = 0$  iff  $D^{\pi} = Z^{\pi}$ , we obtain the following consequence of Theorem 2.5.

**Corollary 3.2.** If  $A^{\pi}JA^{\pi} = 0$ ,  $D^{\pi} = Z^{\pi}$  and if

(a)  $SA^{\pi}I = 0$ , then

$$\begin{split} S^{D} &= (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))(A^{D} + A^{D}CZ^{D}BA^{D}) \\ &- \sum_{i=0}^{k-1} \left[ \left( (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))(A^{D} + A^{D}CZ^{D}BA^{D}) \right)^{i+1} \\ &\times (I - A^{\pi}J(A^{D} + A^{D}CZ^{D}BA^{D}))A^{D}CZ^{D}BA^{i}A^{\pi} \right]. \end{split}$$

(c)  $IA^{\pi}S = 0$ , then

$$\begin{split} S^{D} &= (A^{D} + A^{D}CZ^{D}BA^{D})(I - (A^{D} + A^{D}CZ^{D}BA^{D})JA^{\pi}) \\ &- \sum_{i=0}^{k-1} \left[ A^{\pi}A^{i}CZ^{D}BA^{D}(I - (A^{D} + A^{D}CZ^{D}BA^{D})JA^{\pi}) \right. \\ & \times \left( (A^{D} + A^{D}CZ^{D}BA^{D})(I - (A^{D} + A^{D}CZ^{D}BA^{D})JA^{\pi}) \right)^{i+1} \right]. \end{split}$$

The Drazin inverse of  $A - CD^{D}B$  is expressed under some conditions, which are listed partially as follows:

(a)  $A^{\pi}C = 0$ ,  $CD^{\pi} = 0$ ,  $Z^{\pi}B = 0$ ,  $D^{\pi}B = 0$  and  $CZ^{\pi} = 0$  (see [3, Theorem 2.1]); (b)  $A^{\pi}C = 0$ ,  $CD^{\pi}Z^{D}B = 0$ ,  $CD^{D}Z^{\pi}B = 0$ ,  $CZ^{\pi}D^{D}B = 0$  and  $CZ^{D}D^{\pi}B = 0$  (see [10, Theorem 2.1]); (c)  $A^{\pi}C = CD^{\pi}$ ,  $D^{\pi}B = 0$  and  $DZ^{\pi} = 0$  (see [9, Theorem 2.1]);

(d)  $A^{\pi}C = CD^{\pi}$ ,  $D^{\pi}B = 0$ ,  $Z^{\pi}B = 0$  and  $CZ^{\pi} = 0$  (see [9, Theorem 2.2]).

Hence, Corollary 3.1(a,d) is an unified generalization of [3, Theorem 2.1] and [10, Theorem 2.1], because Corollary 3.1(a,d) relaxes the first condition and drops the last two in each item (a)–(c). Also, Corollary 3.1(a,d) is an extension of [9, Theorem 2.1 and Theorem 2.2], for details see [4]. In the case that D = I, Corollary 3.1(a,d) recovers [12, Theorem 2.1].

Similarly, observe that Corollary 3.1(b,c) generalizes [3, Theorem 2.2], [10, Theorem 2.2], [9, Theorem 2.3] and [12, Theorem 2.4].

If we assume that *A*, *D* and *Z* are invertible in Corollary 3.1, then ind(A) = 0,  $A^{\pi} = 0$ ,  $D^{\pi} = 0$ ,  $Z^{\pi} = 0$ , *S* is invertible and so Corollary 3.1 is exactly well-known SMW formula.

#### References

- [1] A. Ben-Israel, T.N.E. Greville, Generalized Inverses: Theory and applications 2nd ed. Springer, New York 2003.
- [2] S.L. Campbell, C.D. Mayer, Generalized Inverses of Linear Transformations. Dover, New York, 1991.
- [3] E. Dopazo, M.F. Martínez-Serrano, On deriving the Drazin inverse of a modified matrix, Linear Algebra Appl. 438(4) (2013) 1678–1687.
- [4] D. Zhang, X. Du, Representations for the Drazin inverse of a Modified Matrix, Filomat 29(4) (2015) 853-863.
- [5] W.W. Hager, Updating the inverse of a matrix, SIAM Rev. 31 (1989) 221–239.
- [6] R.E. Harte, Invertibility and singularity for bounded linear operators. Monographs and Textbooks in Pure and Applied Mathematics, 109, Marcel Dekker, Inc., New York 1988.
- [7] R.E. Hartwig, G. Wang, Y. Wei, Some additive results on Drazin inverse, Linear Algebra Appl, 322 (2001) 207–217.
- [8] R. A. Horn, C.R. Johnson, Matrix Analysis. Cambridge University Press, Cambridge 1985.
- [9] D. Mosić, Some results on the Drazin inverse of a modified matrix, Calcolo 50 (2013) 305-311.
- [10] A. Shakoor, H. Yang, I. Ali, Some representations for the Drazin inverse of a modified matrix, Calcolo 51(3) (2014) 505–514.
- [11] J. Sherman, W.J. Morrison, Adjustment of an inverse matrix corresponding to a change in one element of a given matrix, Ann. Math. Statist 21 (1950) 124-127.
- [12] Y. Wei, The Drazin inverse of a modified matrix, Appl. Math. Comput. 125 (2012) 295–301.
- [13] M.A. Woodbury, Inverting Modified Matrices. Technical Reprot 42m Statistical Research Group, Princeton University, Princeton, NJ, 1950.